Einziehfahrwerk 61/4 90365

M3x3 (S)
Co A " Ord.No. 161 s
|p 1615 09/06
> q ] @3x30mm/ A
8 Ord.No.166
A 156 90015
< ‘(* 90365 M2x8 (S
o @ M3x3 (S)

90365 ©
M3x3 (S) >

90015
S M2x8 (S)
& (@ /
90365 °
M3x3 (S) A 161/1

5 @) 161/2
G

(0. E 90365

K)

154 M3x3 (S)
( 8
)

90365
M3x3 (S)

161/1

mit "Ord.No." versehene Teile sind NICHT im
Bausatz enthalten!

Parts whose Ord.No. is stated in full, e.g.
(Ord.No. 47/11) are not included in the kit.

il

Q ©o000

Ord. No.
107/17

(K) Ord.No.10/27
70/155

. @ - '
&b (S) Ord.No.10/24
Ord. No.
107/17 1o


rherm
Beschriftung
A

rherm
Beschriftung
A

rherm
Beschriftung
A

rherm
Textfeld
 A




